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L each sentence. Tﬂeri mark tﬁe cﬂrmct chmr:e on _ﬂ;-ur answer sheet.

Ancient alchemists believed that it was possible to .......... lead into gold,

1) mingle 2) direct 3) transfer 4) transmute

Dan always beats me at chess because he develops such an ......... game plan that I can
never predict his next move,

1) eventual 2) ambiguous 3) elaborate 4) objective

His election as President represented the .............. of his career.

1) summit 2) motivation 3) triangle 4) periphery

She found the job frustrating, and felt she wasn’t ......... anything there.

1) flourishing 2) accomplishing 3) evolving 4) satisfying

Britain’s ......... over its colonies was threatened once nationalist sentiment began to
spread around the world.

1) hegemony 2) preference 3) compromise 4) independence

He ........... all of his success to his mother’s undying encouragement.

1) interprets 2) converts 3) attributes 4) results

You can .......... the flavor of most dishes with the careful use of herbs.

1} initiate 2) impress 3) precede 4) enhance

The pirate Blackbeard had a reputation for being a harsh, .......... man.

1) reliable 2 ruthless 3) perpetual 4) pn:valem

Being a direct relative of the deceased, her claim to the estate was .

1) prominent 2) profound 3) legitimate 4‘} r:‘:ckle 58

There are more than thirty species of rattlesnakes, varying in length from 20 inches to six
feet and also varying in ........... of venom.

1) domination 2} detection 3) conquest 4) toxicity

11-
12-
13-

14-
15-

Football is {11} ....... ball game in the world and the most pupular as a spectator sport.
The simplicity of the rules and the fact that it can be played practically everywhere
(12) ........ to this popularity. It is played on all continents and in more than 200
countries. At the 2000 census (13) ........ by the world governing body, the Federation
Internationale de Football Association (FIFA), (14) ........ some 30 million registered
players at all levels. In addition, there are (15) ....... casual players involved in pickup
games in streets, on parking lots, on school playgrounds, in parks, and even, as in Brazil,
on beaches.

1 played the most widely 2) the most widely played

3} played most widely 4) the widely most played

1) has contributed 2) will be contributing

3} had contributed 4) will have contributed

1) to be taken 2) was taken 3) that taken 4) taken
1) which were 2) there were 3) they were 4) were
1) many millions 2) many of millions

3) many millions of 4) many million

M}M%hd’)éM}‘@“)UQ‘GW"}&?'@PT
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Passage 1:

In hot, dry climates, shade from sunlight is the highest priority during the daytime since
heat exhaustion and exposure are major concerns. Shade nets are commonly used, and heat
radiation can be minimized by making a double-skinned roof with plastic sheeting.

According to the above passage 1 --——-- :

1) Shades are longer in hot and dry climates

2) Sunlight minimizes the use of plastic in hot and dry climates

3) Sunlight is the main reason for using shades in hot and dry climates

4) Except in hot and dry climates, double-skinned roof is usually used in variety of climates.
“Exposure” means -------—---,

1) Something that is dangerous

2) Something that can be blown up

3) the condition of being covered especially from severe weather

4) the condition of being unprotected especially from severe weather

Passage 2:

One of the first steps in emergency preparedness is to identify and assess hazards and the
associated risks within an operation. There are many ways of achieving this, and an illustration
of how it may be done can be found at Falconbridge.

Falconbridge is a leading international mining and metals company employing 16,000
people at its operations and offices worldwide. It is one of the world’s largest producers of zinc
and nickel and a significant producer of copper, primary and fabricated aluminium, lead,
silver, gold, sulphuric acid and cobalt. Falconbridge is also a major recycler of secondary
copper, nickel and precious metals.

The company has set out a series of sustainable development policy statements. One is that
all its operations will meet or surpass applicable environmental, health, hygiene, safety,
emergency preparedness and response legislation and other requirements to which the
company and its operations subscribe. In order to prepare and be fully capable of responding to
emergencies, group companies are expected to conduct a vulnerability assessment to identify
and assess their hazards and risks,

Which following sentence is true according to the above passage?

1) Falconbridge was a plan which was used by 16,000 people.

2) If we want to take a risk, first we should develop an emergency plan,

3) The first preparedness plan in the world was developed by Falconbridge.

4) If we know what threats exist beforehand, then we will be better prepared for an emergency
condition.

Which following sentence is false according to the above passage?

1y Precious metals can be recycled.

2) Falconbridge is famous as a mining industry.

3) Falconbridge is a company which produces only environmentally friendly products.

4) Vulnerability assessment might be conducted to identify and assess hazards and risks of
industry operations.
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The word “this” in paragraph 1 refers to --—--—- "
1) to identify and assess 2) The first step
3) hazards 4) risks

According to paragraph 2, “recycle” means —-----—-.

1) to process in order to generate material for human use

2) to process in order to regain material for human use

3) to design a device that is used in Falconbridge

4) to produce metals

According to the paragraph 3, “Response” means --——-,

1} legal 2) responsible

3) In charge of 4) something constituting a reply or a reaction
According to paragraph 3, the word “vulnerable” means ——--——--,

1) sheltered 2} susceptible 3) defensible 4) insusceptible
According to paragraph 3, “surpass” means ---—--—-—-.

1) exceed 2) visit 3) lose 4) amazement

According to paragraph 2, “requirement” means ---—-- -=.

1) apparatus 2) nonessential 3) necessary 4) regulation

Passage 3:

The main systems related to water in the urban environment are as follows:
water sources, water supplies, treatment of sewage effluent, urban drainage control, river
flooding control.

Urban water sources provide water for human, animal and industrial consumption. They
may be surface or underground sources. Surface sources are rivers close to communities, The
availability of water in this system varies over the years; sometimes the quantity of water
available is insufficient to meet demand, often requiring a reservoir to be built to guarantee the
availability of water for the community over time. Groundwater sources are aquifers supplying
water from the subsoil and demand can be met by pumping this water. In this way,
groundwater is generally used in small and medium-sized cities, as this depends on the flow
that can be pumped out of the aquifer without upsetting the balance of incoming and
outflowing water.

The supply of water involves the use of the water available in the source, which is
transported to the water treatment plant (WTP) and then distributed to the population via the
water mains. This system involves major investments, generally by the public sector, to ensure
an adequate quantity and quality of water.

Sewage effluent sanitation is a system for collecting effluent (domestic, commercial and
industrial) and transporting it to a treatment plant and discharging the treated water back into
the water courses.

According to the text, --—------—-

1) surface water is better than gmundwatf:r

2) surface water may not be available for the whole year

3) surface water is generally used in small and medium-sized cities

4) to have surface water available for the whole year, we need to pump water out of the river
According to the text, -—-—--,

1) groundwater is only used for human consumption

2) the groundwater is not always used as a water supply for large-scale cities

3) to make sure that ground water is always available, we need to build reservoirs

4) the amount of water that is pumped out of the aquifer depends on the size of the aquifer

WM““Ug)éM)'wu)UQhW‘g)b'ue}?."
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According to the text, -——-.

1) water is always transported to the point where less people live

2) water can be supplied regardless of availability of water in the source

3) private sector contribution to water supply cost is less than public sector

4) water will always be transported to the populated area and then will be delivered to water

treatment plant through principle pipes

According to paragraph 4,” domestic” means -————,

1) household 2) industrial 3) unbroken 4) sewage
According to paragraph 4,” sanitation™ means -------- ;

1) filth 2) sewage 3) allowance 4) cleanliness
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